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HrbtE(ke-002) HuHitE(e-002) %t t
@ % 116,074 93,782 -19.20%
JE B 19,047 8,541 -55.16%
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i) Y D) v L 0.00%
*T i 3,668.00 L 9,131.000 9.74%
23 ;8 L 0.00%
A E:| i m 0.00%
L P A 2 10510 m 627.000 0.67%
E 5 #F A = 193,158.00 kWh 84,024.000 89.60%
a it 93,782.000 100.00%
i Al FRNEEE R LR (ke COD) HERRLL(%)
ya) Y ) > L 0.00%
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A E:) 5 12,999.00 m 35,222.000 47.26%
L P A 2 133.00 m 794.000 1.07%
E S #F A = 82,330.00 kWh 35,814.000 48.05%
a it 74,534.000 100.00%
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i) Y D) v 1,646.16 L 3,822.000 3.68%
*T 3 548191 L 13,647.000 13.15%
23 3 1,351.76 L 3,494.000 3.37%
A ) 3 m 0.00%
L P H 2 885.90 m 5,287.000 5.10%
E % #F A = 178,161.00 kWh 77,500.000 74.70%
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FAUER
& Al FRHEEE TRyt E(ke-CO2) FERKLE(%0)
7 Y ) v L 0.00%
KT i 763.00 L 1,899.000 8.32%
8 ;H L 0.00%
A ) 3 m 0.00%
L P H 2 9320 m 556.000 2.43%
E % F A = 46,851.00 kWh 20,380.000 89.25%
& &t 22,835.000 100.00%
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8 i L 0.00%
A ] i m 0.00%
L P A 2 1070 m 64.000 0.29%
B X #F B £ 50,535.00 kWh 21,983.000 99.71%
=1 it 22,047.000 100.00%
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vl Y J) v 7900 L 183.000 0.06%
*T i 23400 L 583.000 0.19%
23 i 1,77011 L 4,576.000 1.50%
A ) i 86,000.00 m 233,028.000 76.43%
L P A 2 466.60 m 2,785.000 0.91%
E K #F# B = 146,512.00 kWh 63,733.000 20.90%
=1 it 304,888.000 100.00%
aprese= s
i 7l FRINES M bR B (e CO2) FERREL(%)
i) Y ) v 157859 L 3,665.000 12.84%
*T i 15201 L 378.000 1.32%
23 3 3,470.87 L 8,972.000 31.43%
A ] 3 m 0.00%
L P il 2 5180 m 309.000 1.08%
B X #F B £ 34,997.00 kWh 15,224.000 53.33%
=1 &t 28,548.000 100.00%
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KT i L 0.00%
23 i L 0.00%
A E:] 3 m 0.00%
L P yi} R m 0.00%
E S #F# A = 2,973,958.00 kWh 1,293,672.000 100.00%
=1 it 1,293,672.000 100.00%
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*T i 908.00 L 2,260.000 0.71%
23 3 7,540.00 L 19,491.000 6.17%
A E: 3 15,550.00 m 42,135.000 13.33%
L P il 2 7,543.60 m 45,019.000 14.24%
B KX #F B £ 476,349.00 KWh 207,212.000 65.55%
=1 &t 316,117.000 100.00%
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23 3 9,258.00 L 23,932.000 7.42%
A ) 3 5,000.00 m 13,548.000 4.20%
L P i) 2 3300 m 197.000 0.06%
B X #F B £ 651,785.00 kWh 283,526.000 87.90%
=1 it 322,555.000 100.00%
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*T i 4956.00 L 12,338.000 2.11%
23 i 1,158.00 L 2,993.000 0.51%
A ) i 100,000.00 m 270,963.000 46.41%
L P A 2 1,136.00 m 6,779.000 1.16%
E K #F# B = 664,518.00 kWh 289,065.000 49.51%
=1 it 583,893.000 100.00%
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A ] 3 m 0.00%
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L P yi} x 2570 m 153.000 0.40%
E S #F# A = 80,121.00 kWh 34,853.000 90.08%
=1 it 38,690.000 100.00%
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*T i 16,294.33 L 40,564.000 14.14%
8 A L 0.00%
A 3] pei| m 0.00%
L P il 2 50.40 m 301.000 0.10%
B KX #F B £ 565,684.00 kWh 246,073.000 85.76%
=1 &t 286,938.000 100.00%




iz 2l FREEBES MR B (ke-CO2) HERREL(%)
# Y ) > 27400 L 636.000 0.31%
*T it 269.00 L 670.000 0.33%
23 3 1,400.15 L 3,619.000 1.79%
A ] 3 48,000.00 m 130,062.000 64.24%
L P i} 2 188240 m 11,234.000 5.55%
B X #F B £ 129,283.00 kWh 56,238.000 27.78%
=1 it 202,459.000 100.00%
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i 7l FRNEES AR E (e CO2) TERREL(%)
vl Y J) v 33000 L 766.000 0.35%
*T i 8,482.00 L 21,116.000 9.68%
23 i L 0.00%
A ) i 6,355.00 m 17,220.000 7.89%
L P H 2 577510 m 34,465.000 15.79%
E K #F# B = 332,598.00 kWh 144,680.000 66.29%
=1 it 218,247.000 100.00%
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i 7l FRINES M bR B (e CO2) FERRLL(%)
# Y ) > 29300 L 680.000 0.17%
*T i 37,423.00 L 93,164.000 23.81%
23 i 49010 L 1,267.000 0.32%
A ] 3 m 0.00%
L P H 2 1,06280 m 6,343.000 1.62%
B X #F B £ 666,322.00 kWh 289,850.000 74.07%
=1 &t 391,304.000 100.00%
CATV
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vl Y J) > L 0.00%
KT i L 0.00%
23 i 6500 L 168.000 0.11%
A E:] 3 m 0.00%
L P yi} R m 0.00%
E S #F# A = 346,265.00 kWh 150,625.000 99.89%
=1 it 150,793.000 100.00%
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i 7l FRNEES MR E (e -CO2) FERRLL(%)
# Y ) > 2678.10 L 6,218.000 2.62%
*T i 753800 L 18,766.000 7.92%
8 3 700 L 18.000 0.01%
A 3] pei| m 0.00%
L P H 2 268190 m 16,005.000 6.75%
B KX #F B £ 450,650.00 KWh 196,033.000 82.70%
=1 &t 237,040.000 100.00%
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) Y ) v 28,792.68 L 66,847.000 73.45%
KT it L 0.00%
23 it 934781 L 24,164.000 26.55%
A ] ;H m 0.00%
L P i} R m 0.00%
E 5 #F# B = KWh 0.00%
=1 it 91,011.000 100.00%
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) Y ) v 36,62453 L 85,030.00 1.75%
KT ;M 90,289.25 L 224,773.00 4.63%
23 it 35,858.80 L 92,694.00 1.91%
A ) it 273,90400 m 742,178.00 15.27%
L P A 2 22008.10 m 131,341.00 2.70%
E 5 #F# B = 8,238,727.17 kWh 3,583,848.00 73.74%
=1 it 4,859,864.00 100.00%




